Worksheet Section 7.4 v01
F2009 Math 098
Dressler

Name

Simplify the given expression.

1) 641/2
2) 161/4
3) -5121/3
4) 6251/4

5) -321/5

0 [ ﬁ T/z
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5 [ ﬁ ]1/3
9) 642/3

10) 84/3

11) 165/4

12) 253/2

13) (-243)4/5

14) (-243)7/5

15) 9-1/2

16) 125-1/3

17) 1024-1/5

18) 216-2/3

19) 81-3/4

20) 2187~ 4/7



Simplify by first writing the expression in radical form.

30) 43/2 + 1252/3

31) 253/2 4 272/3

32) 93/2 4+ 1252/3

33) 43/2 - 272/3

34) 644/3 4+ 43/2

35) 163/2 - 1252/3

36) 84/3 + 93/2

37) 253/2 - 272/3

38) 274/3 + 43/2

39) 84/3 - 253/2

40) 253/2 .161/4

41) 64-4/3 . 4-3/2

42) 91/4.9-3/4

43) 85/6. 8-1/2

44) 275/6 . 27-1/2



Answer Key
Testname: WS7.4V02

1)8

9) 16
10) 16
11) 32
12) 125
13) 81
14) -2187

15)%%
16)%%
17)%—
18)?%;
19)5%—
ZO)E%T

21) 10
25
2) 2
19
23) =
24) 5
25) 216
26) 4
27) 2
28) 125
29) -5
30) 33
31) 134
32) 52
33) -1
34) 264
35) 39
36) 43



Answer Key
Testname: WS7.4V02

37) 116
38) 89
39) -109
40) 250
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42) %

43)2
44) 3



